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._)D 1. Sketch a graph. on the grid pros ided. for v = sec x. Show all major characteristics
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@ 5. A weight is bobbing up and down on a spring
artached to a ceiling. The data in the following

table give the height of the weight above the
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where ¢ is the rime in seconds. a.12
a) What is the period of the function? =1 o .
b) What does the value of the period mean in GWMN i b
this situation? L 99.1\3
o) Calculate the average rate of change in a 4
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d) Estimate the instantaneous rate of changc in

a person’s blood - b.2
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for x where this situation occurs.
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